TEST |
GENERAL AWARENESS

01 Which of the following games is NOT included in Olympic games ?

(1) Footbal (2) Goll (3) Bagminton (4) Hockey (5) Table Tennis
Q.2 PVR' s the name of a leading _____

(1) Retail Store Chan (2) Trousers Brang (3) Fast Food Hestaurants

(4) Casual Footwear Cham (5) Mutiplex Chain Operator
Q3 Who amongs! Ine following 1s the Soicitor General of Indhis at prasent ?

(1) Rohmion Nanman (&) Hansh Salve (3) Abhisekh Manu Singhy

(4) Ram Jathmalan [5) None of theso .
0.4 The Finance Bil 201217 Gave the Income Tax Depariment powers 10 revive s 7 11 128 crove tax

demandon
(1) Bhari Airtel (2) Tata Incscom — (3) Idea Cellular (4) Vodalone (5) Dolphin

Q.5. Which of the tollawing awards is given only 1o Individuals and organisations ol Asian countries for
excellence in thes tespective holds 2
(1) Booker Prize <] Nobe! Prnze (3) Templeton Prize
(4) Ramon Magsaysay Award (3) Oscar Awaras

Q6. Who from amongst the following 1s the founder of ‘Facebook' ?

(1) Steve Jobs (2) Steve James (3) Sabeer Bhana
%) Mark Zuckerberg (5) Bl Gales
Q.7 Which i the TOP Gond producs Wy country i the world 7
(1) Saud Arabia  (2) China (4] Smgapore (d) Kuwan (5) Indha
Q.8 Which Indian City is known as the 'Garden City’ 7
(1) Udapur () Chandigarh (3) Srinagar (4) Bangalore (9) Mysore
Q.9 Who among the following Indian Contestants in the 2012 London Olympics 10 mater aw rifle event wor,
d brongéa medal 7
(1) Gagan Narang (2) Vijay Kumar {3) Sushil Kumar
(4) Parupah Kashyap (5) Amit Kumar

Q10.  Which of the following 1s a professional group for Twenty20 cricket championship, iniliated by the
Board of Control for Crickat in India 2
(1) Indian Cricket League {ICL) (¢} International Cricket League (ICL)
(3) Indian Premier League (IPL) (4) Cncket Club of India (CCI)

(5) Indian Premium League (IPL)

Q.11.  Who amongst the following is the author of the English novel The White Tiger' ?
(1) Kiran Desai (2) V.S Naipaul (3) -Shashi Tharoor
{(4) Shobha De (5) Aravind Adiga

Q.12 Manasar, which was recently in news is a town in _____
(1) Himachal Pradesh (2) Punjab (3) Haryana
(4) Gujarat {5) Uttarakhand



Q.13

Q.14

Q.15.

Q.16

Q.17.
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0.19.
2.20.

2.21.

2.22.

Who is the author of the book ‘Filty Shades of Groy' ?

(1) Jettary Archar (2) Norman Lows (3) L L Jemaes

(4) Edward Klein (5) Shashi Deshpande

Rockefeller Foundation has recently conferred a lifetime achievernent award for innovation into
business models upon

(1) Anil Dhirubhai Ambani (2) Barack Obama (3) General V.K Singh

(4) Narendra Modi (5) Ratan N Tata

Under the RTI Act the me Iﬁl disposal ol reques! tur nlormation in cases concerming lite and ity

|

(1) 30 gays (2) 15 days (3) 10 days (4) 7 days (5) 48 hours

Which of the foliowing awards has recently been conferred upon Shri DR Mahta for outstanding
coninbution lowards the promotion ol communal narmony, peace and goodwill ?

(1) Rapv Gandhi Global Excellence Award 2012

() Rapy Gandhe Memorial Nabonal Award 2012

(J) Rapv Gandhi Qua'ity Award 2012

(4) Rajiv Gandhi Nalional Sadbhavana Award 2012

(5) Rajiv Gandhi Khel Ratna Award 2012

United States Atomic Energy Act 1954 establishes an agreament of cooperalion as a prerequisie i
nuclear deals between US and any other nation. Such an agreement is popularly known as _____
(1) Agreement of Cooperation (2) 123 Agreement (3) PL 480

(4) Ato 7 Agreemaent (5) Nuclear Deal

Which of the following sporisman recently cinched the French Open Singles Title for the seventh ti
in his life ime ?

(1) Roger Federer (2) Ralael Nadal (J) Novak Djokovic

(4) Robin Soderling (5) Martin Verkerk

World 'No Tobacco Day' is observed every year on

(1) d1stJanuary  (2) 31st May (3) 318t July (4) 315t October (5) 31st Decem
Which of the following is the name of a Chinese spacecrafl ?

(1) Apolio 18 (2) Soyuz 7K-L1  (3) Shenzhou-9  (4) Kiper (5) Hermes
Commonwealth Games 2014 shall be held at

(1) Glasgow (2) Montreal (3) Queensiand (4) Gold Coast (5) Beiing
Which of the following is NOT a Consumer Right as per Consumer Protection Act 1986 ?

(1) Right to Consumer Education (2) RHighl 10 seok Rodrassal

(3) Right 1o Salety (4) Right to be informed

(5) Right lo Negotiate

Which of the following is a book authored by Shri Pranab Mukherji ?

(1) The Inheritance of Loss (2) The Argumentalive Indian
(3) Beyond Survival : Emerging Dimensions of Indian Economy  (4) The Family and the Nation
(5) None of these

For management of natural resources the Indian Space Research Organisation (ISRO) has

successfully operationalised
(1) Indian Remote Sensing Satellite (IRS) (2) Indian National Satelite (INSAT)
(3) Geostationary Satellite Launch Vehicle (GSLV) (4) Polar Satellite Launch Vehicle (PSLV)

(5) None of these

Which of the following is a power generating company ?
(1) Rellance (2) HINDALCO  (3) TISCO (4) HPCL (5) CIPLA

Which of the following Indian states has topped as the fastest growing state with a striking 13.1%
growth in 2011-12 7
(1) Gujarat (2) Haryana (3) Maharashtra  (4) Tamil Nadu  (5) Bihar



Q.27.

Q.28.

Q29

Q.30.

0.31.

Q.32

Q.33.

Q.34

Q.36.

Q.37.

Which of the lollowing is NOT a Public Sector Bank 2
(1) Corporation Bank (2) United Bank of India (3} Vyjaya Bank
(4) Bank of Maharashtra (5) Federal Bank

A form of intentional weather modification by changing o trying the amount or lype of precipitation that
lalls Irom clouds by dispersing substances into air that serve as cloud condensation is called
(1) Cloud Computing (2) Cloud Technology (3) Cloud Seeding

(4) Cloud Control (5) Cloud Engineering

Wha amongs! the following cricketers has been chosen as the '[Imn! Ambassador’ by the Inlernabonal
Cricket Council (ICC) for the Waorld Cup Twenty 20 Champonshiss (o be hold in Soptamber Octohor
2012 ?

(1) Lasith Malinga (2) Mahela Jayawardene (3) TM Dishan

(4) Sachin Tendulkar {5) Dmesh Chandimal

Which of the following birds has been declared as the ‘State Bird' by the Government of Delty Stale
(1) Parrot (2) Pigeon (3) House Sparrow (4) Peacock  (5) Swan
'CHALLENGER' is the name of a

(1} Planet (2) Nuclear Woapon (4} Island

(4) Space Shuttle (5) Automaobile Brand

Which of the following is India’s iargest lrading partner in the world 7

(1) UAE (2) China (3) US A (4) France (5) haly
The North Atlantic Treaty Organisaton (NATO) is headquartered at ——

(1) Camp David, Maryland USA (2) Geneva [3) New York

(4) Sweden (5) Brussels

Which of the lollowing s the abbreviated name of a fural sports initiative introduced by the

Government of India to promote youth and social davelopment through sports ?
(1) NLMP (2) PYKKA (3) CGHS (4) AABY (5) SGSRAY

Who from amongst the following persons is a former Governor of RBI ?
(1) Shn P Chisambaram (2) Shri Yashwant Sinha (3) Shri Pranab Mukherjee
(41 She Man Mohan Singh (5) Nonn af thesn .

A new scheme has mwmmmwmm-mmm lax exemptions o first time equity
market investors. The schema is titled as _____

(1) Rajiv Gandni Equity Savings Scheme (¢) Rashinya Equity Savings Scheme

(3) National Equity Savings Scheme (4) Indira Gandhi Equity Savings Scheme

(5) Prime Minister's Equity Savings Scheme

MMﬂmlmmcw:uimcimMMmEMEHmndmmum
steel by 2015 7
(1) China (2) Brazil (3) Russia (4) India () Naly

mammmmmmmwmnmmmmmmuﬂ
16,2012 ?

(1) Bhutan (2) Bangladesh (3) Sri Lanka (4) Nepal (5) Myanmar
mmmnmmmmmunnmmmnm
Authority of India ?

(1) V.5.Sampath  (2) Rahul Khullar (3) SanjayArya  (4) D K Mittal (5) Navin Chawla

mcmmumrmmmmumwmwmnm
whose annual eamings exceed__ i

(1) T 5 lakh during the fiscal (2) T 10 lakh during the fiscal

(3) T 15 lakh during the fiscal {4) ¥ 20 lakh during the fiscal

(5) ¥ 25 lakh during the fiscal
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TEST Ui
GENERAL ENGLISH

Read each senlence 1o find oul whether there 18 any grammatical ecror m it The error,if any, will be in one
part of the sentence. The number of that part is the answer. Il thare 15 no aror, the answer 1s (5) .e ‘No

Error (Ignore errors of puncluations, if any).

Reshma was / a daily wage worker / who gone 10 work / despite having mgh tever No Error
(1) (2) (3) (4) (9)

Hadhika was very upsel / because she had to goes / to a hoarding schaol, /
(1 (2) (3

50 she cnad the entirg night No Frroe
(4) i)
Although Shanku was born /in a nch merchant's famiies / he was very hunible and /
(1) | (2) (3)
was a philanthropist by nature. No Error
(4) (5)
Prolessor Shasin were / a loved man and / had students visiting / hwm every day No Error
(1) (2) (3 (4) (5)
* Reetu was a model / and so she would / starve hersel! 1o maintan / his body weght. No Error

(1) (2) (3) (4) (5)

Each sentence below has a blank, each blank indicales \hat something has been omitted. Choose the
word that bes! fits the meaning of the sentence as a whole

Rajeev was upso! because he —_ forgotien his bes! riend’s urthday

(1) have (2) shal (3) wil (4) rght (5) had

Haj was introvert and would prafer 10 sit in the library rather than go outl with fnands

(1) the (2) a (3) hke (4) tor (5) an
Shanku was born __ a silver spoon in his mouth and was very proud of his wealth

(1) with (2) along (3) on (4) within (5) wishing
Laxmi los! an imponant file and rather than confessing her ____ she blamed Sandra for losing it
(1) respect (2) image (3) atitude (4) detaul (5) mistake
Jacob was a rich old man who lived — alone in a huge house because his children did nol care
about him,

(1) only (2) a - (3) more (4) 100 (5) litle

In each question below, four words printed in bold type are given. These are numbered (1), (2), (3) and
(4). One of these words printed in bold might either be wrongly spelt or inappropriate in the context of
the sentence. Find out the word thal is inappropriale or wrongly spelt, it any. The number of the word is
your answer. if the words printed in bold are correctly spelt and appropriate in the context of the sentence
then mark (5) L.e. ‘All Correct’ as your answer.

Ronald was very proud of his new car and would always be on the look out

(1) )
for an excuse to flaunt it. All correct
) (4) (5)
Ramesh had an aversion fo alcohol and would avoid going to partyles with his friends. Al correct
(1) {2) (3 (4) (5

wmmmmmﬁmmunmm All correct
> (1) @) (3) (4) (5)



Q.54,

Q.55.

Q.56-60.

Q.56.

Q.57.

Q.59.

Q.60.

Q.61-70.

Roshni was found of pets and she was a proud owner ol many unique animals. All correct
(1) (@) (3)  (4) (3
Ahmad was not only very intelligent bul also very sincere and would always
(1) (2)
strand firsi in his class. a Ml eorroct
(3) (4) (5)

Rearrange the following e:ght sentencas/group of sentences (A), (B), (C), (D). (E). (F), (G) and (H) in the
proper sequence lo form a meaninglul paragraph. then answer the queshions given below them

(A) Both Ram and Sham realized their mistake anad were ashamed ahout what they had sawd

(B) Vivek happened 10 overmear their conversation and was very angry with Loth ol them lor crticising
the: iree

(C) Two fnends, Ram and Sham, were seeking respite from the seanng heat of the midday sun when
they saw a huge lealy tree

(D) “It's aplain tree,” said his friend. “Don't waste your ime looking for fruits. It produces neither edible
Iruits nor good wood. It's one of the most useless trees around *

(E) “How can yOu say such a thing when you're enjoying the shade of this beautiful tree al this very
moment ?* snapped Vivek unable to control his anger

(F) They took sheiter under the huge lealy tree and soon lelt cool and rofreshed.

(G) Busy belitting the tree both Ram and Sham did not notce that another person, Vivek, was lying on
the other side of the tree taking shelter.

(H) "What sort of tree is this ? Does it produce edible fruits 7 asked Ram

Which of the following should be the SECOND sentence atter the rearrangement ?
(1) A (2) B (3) E (4) F (5 G

Which of the following should be the EIGHTH (LAST) sentence alter the rearrangement 7
(1) A (2) B (3) D (4) E (5) F

Which ol the following should be the FIFTH sentence alter the rearrangement 7
(1 D (2) E (3) F (@) G (5) H

Which of the following should be the FIRST sentence after the rearrangement ?
(1) A (2) B (3 C (4) D (5) E

Which of the lollowing should be the FOURTH sentence after the rearrangement 7
() D (2) E (3) F (4) G (5) H

In the following passage there are bianks, each of which has been numbered. These numbers are printed

below the passage and against each, five words/phrases are suggested, one of which fits the blank
appropriately. Find out the appropriate word/phrase in each case.

Dlmupnnlth'ni.abaﬂbuqhidmmmishumemthegrand.nmarnantaib-a-:lnuhnmg.The
bed bug led a regal and peacelul life as he (61) on the king's sweet blood.

Dmdlr.aIIHl:ldftidiﬂulhuW:hedmandﬂwslmrghtmmnkm'uhod.mmm
Wmmmmmmmmnaummmmmm+ *You better leave
hthlm-mﬂcurnu.'mmﬂ!yuumadismwmdlumm.muuﬂlbakillodﬂm.'
mmm'wmmmmm you are! Don't you know that you must welcome 3
guest with polite words ? Besides, | have come here with a purpose. Though | have tasted the blood of
many people and beasts, (§3) have | tasted the royal blood of a king. | have heard that it is delicious
haymdmnpmmdibmhmllmulﬁ.leaﬂmnuabimufmwmlm?'

Wbunmrhd,'ﬂl.himmﬂmmmnmwfnnhahfwmrmmuhﬁm
him so gently that he never feels my bite. You are much too impatient. I'l agree to let you have one bite of
Ihlklnn.hulywuﬂhmtnﬂliﬂﬂImﬁﬁhﬂmyuﬁ.‘Thﬂnwasdaﬁthndln[ﬁlﬁm



Q.61.
0.62.

Q.64.
Q.65.
Q.66.
Q.67.
Q.68.
Q.69.
Q.70.

Q.71-80.

A littie while later, the king (66) s bedroom 10 slgep. The flea grew very exciled wher no saw ihe
king's plump body. “Remember what | told you,” the bed bug warned "We have 10 wald 1l the kng 15 in

doep sleep belore we bagin 10 eas!

The tiea was very impatient, however, and could not (§7) emselt. Jist as Ihe kung wis Deginrtiiy
10 doze off. he bit the king hard on his arm. The king (68) from his bad when he lelt ine bie, ard was vary
cross indeed. He immeciately ordered his servanls 10 sirp hus bed and find the insect thal had caused hm
such (69). The king's mer pulled the lnen off the bed and examined it closely The flea, seeng the
commotion, lew away 0 a cofner ol the r00m and hid behind a curtan. but the servanis lound the poo

bed bug and kiled him at (70}

(1) drank (2) bver (3) teastd (4) ate (5) meed
(1) inhospitable  (2) very (3) mea (4) smaller (5) total,
(1) nor (2} and ) also (4) Ao (%) bt
(1) mowing (2) asleep (3) smoring (4) Sleeping I%) snoted
(1) doing (2) hear (d) give (4) see (5) hsten
(1) made (2) retired (3) went (4) came (5) entered
(1) stopped (2} restrant (1) holpaed (4) conbrol (%) st
(1) leapt (2) Wred (J) slept (4) removed (5) ump
(1) depression (2) want (1) discomfon (4) oy (5) paning
(1) best (2) /mmedale (3) aM (4) end () once

Read the lollowing passage caraluly and answer the queshons given below i Cenain words/phrases
have bean printed in bold 1o help you locate thom whilir nSwETIneg S sres ol thae s hionns

Leng ago, a Brahmin called Handalla wed n a liftle village. He was a farmer but Ine piece of and
he cullivated provided hwm with sO itle 10 survive on [hal Ne was very pus

One day, unable to stand InG heat of the SUMMEr UM he went 1o rest for a while under a big tree
on his land Before he could stretch out on the ground, he saw a huge black cobra slithenng out of an
anthill nearby. The snake then spread his hood and swayod gracefully from side 10 side. Handatla was
aslonished 10 soe this and he thought, “This cobra must really be the god of this land. | have never seen
wwmm.whﬂmpfmmﬂ am not able 1o get anything from the land. From this Gay
m.lﬂMhM'Hﬁwwhmmmmnncearndm!mﬂadwfmaqlluhﬁlulmﬁ. He
Mlm-wwmmmmm.'ommmnmmm know you were living in this
anthill. That is why | have not paid my tribute 10 you. Plummptmnpdogmhrmormw
wmmm:mmmumﬂﬂmmmmmmmmn

place.

ThnmaymwﬂumhmwtuMmhﬂhndhdumm:mm.MMI#
coin in the bow! he had left at the anthill Hnmwrrhn;whﬂnodanﬂhnmﬂdnym,henﬂh
mummmmmmmmmmmmmmnwmm

leave.

mmwmwmmmmmmmmmmup lothe
mumwmnmummnm-,m son did as he was toid, but when he went 1o the
mmnmmwmwmmmw. “This anthill must be full of goid. It 1 kill the
mtlmwdhpuhnmwdmm“ﬂlmmm hero every day.”
mmmmmmuwm.mmmwmmmuwummm
poisonous fangs. The boy s0on died. When Haridatla returned 1o his vilage the next day, he heard how his
mmmmm.mmmimmm-m'nmmprmmumnﬂmum

the cobra.



Q.71.

Q.72

Q.73

Q.74

Q.75.

Q.76-78.

ulml

Q.77.

Q.7s.

Q.79-80.

Q.79.

Q.80.

mhmlnrmfomnhgmmm“hmuamms son and that you are in moumning. The
reason for this is pure greed. From today, there is no maaning to our relationship. | am going 10 give you a
d:amond as a final git. But phmduﬂmmbachagam “He shinered away as the Brahmin walched

Which of the loliowing 1s TRUE according o the story ?

(1) Haridatta had asked his son 1o gve milk 10 1he cobira boecanses he himsel! was tired of g it
(2) The cobra gave Handatta a damond every day.

(3) Haridatta's son was greedy.

(4) Handatta had no idea as 10 why the cobra had killed his son

(5) Al are true

What was the cobra's final gift to the Brahmin ?
(1) Venom (2) A diamond (3) Abute i4) Agold con (5) None of thesg

What did Handalta think on seeing the cobra lor the hrst ime

(1) The cobra was divine and he would get gold cons trom it if worshioped
(2) The cobra was the god of his land and had to be worshipped

(3) He was tearful of the cobra and ran away from the spot

(4) The cobra was responsible for his poverty.

(5) None of thase.

Which of the following is passibly the most appropriate title for the story ?

(1) The Cobra And The Brahmin (2) The Foolish Brahmun (3) The Brave Cobra
(4) Haridatta And His Son (3) The Moumning Father

Why did Haridatta's son iry to kill the cobra ?

(1) The cobra had angered him through his behaviour.

(2) The cobra was known to be poisonous and had killed several men n the willage by biting them,
(3) He balieved that the anthill in which the cobra lived contained all the gold cons

(4) HEIhnmhtﬂumhradehihrumrthml near it.

(5) He did not like the fact that his father was wasting his time by feeding the cobra milk every day.

Choose the word/ group of words which is most similar i Meaning to the word/ group of words prnted in
bold as used in the passage.

HUMBLE

(1) rich (2) waste (3) meek (4) modast (5) low
ASTONISHED

(1) petrified (2) upset (3) dazed (4) feartul {5) surprised
STRETCH OUT

(1) lie down (2) exercise (3) fall (4) elongate (5) extend out

DEFTLY
(1) nimbly (2) artistically (3 skilfully (4) shallowly (5} shuggishly

IN AN INSTANT
(1) in lieu of (2) quickly (3) atonce (4) one eachday (5) speedily



0.81-85,

Q.81.

Q.82.

Q.83.

Q.84,

Q.85.

Q.86-100.
Q.86.

Q.87.

Q.88.

Q.89.

Q.90.

Q.91,

Q.92,
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:

TEST I

QUANTITATIVE APTITUDE

What approximale value should come in place of the question mark (7) in the following questions 2

(NOTE : You are nol expected to calculate the exact value)

1504 x 5.865 - 24,001 =7

(1) 7200 (2) 9500 (3) 6950
16.928 + 24,7582 + 5.015 = 7

(1) 35 (2) 40 (3) 22
¥7.938 x (6.120)" - 4.9256 = 7

(1) 70 (2) 55 (3) 30
16.046 + 2.8 x 0,599 = 7

(1) 3.5 2) 7.9 (3 1.9
\Jﬁa +H.H5F- 9.24=?

(1) 60 (2) 35 (3) 85

What should come in place of the question mark (?) in the following questions ?

(12x19) + (13x8) = (15 14) ¢ ?

(1) 124 (2) 122 (3) 126
V65 X 12 - 50 + 54 = 7

(1) J28 (2) 28 {3) 28
15% of 524 - 2% of 985 + ? = 20% of 423

(1) 25.9 (2) 27.7 (3) 25.7
1523':3-#{225*'19]':?

(1) 1360 (2) 1354 (3) 1368
V1521 + 225 =7

(1) 56 (2) 58 (3) 54
38.734 + 8638 -5.19=7

(1) 41,971 (2) 42.179 (3) 43.072
Tl-'l +* Imml.l X Hml.l - T'I'

(1) 13.4 (2) 12,8 (3) 11.4
¥512 + 416 + J576 =7

(1) 24 (2) N (3) 22
(42%x3.2)+ (16 % 1.5)=17

(1) 5.9 (2) 5.6 (3) 6.1
199+5°+4x4? =7

(1) 969 (2) 655 (3) 966
J42+6x28=1009+ 7

(1) 478 (2) 502 (3) 486
9B X 25 %X 76

i S s

(1) 384.2 (2) 379.5 (3) 364.3

(4) 5480

(4) 12

(4) 25

(4) 5.6

(4) 45

(4) 128

(4) 784

(4) 24.9

(4) 1381

(4) 62

(4) 42.182

(4) 9.6

(4) 18

(4) 4.8

(4) 799

(4) 504

(4) 3724

(5) 8800
(5) 45
(5) 90
(5) 6.2

(5) 25

(5) Non ol thes:

(5) None of thesn

(5) None of these

(5) None of thes:

(5) None ol these

(5) None of these
(5) None of these
(5) None of these
(5) None of thage
(5) None of these

(5) None of these

(5) None of these



Q.98.

0.99.

Q.100.

-
E ol i ol 7 =426
(1) 2490 (2) 2565 (3) 2475 (4) 2485 (5) None of these
3: " Ig = 4; -7
1 —E_. 9 ?- _r 1 B [ 4
M 25 2 33 (M e (4) & (5) None of these
13,104 52
63" 14 X719
12 13 17 18
(1) 73 (2) 177 (3 171 (4) 7 (5} None of these

Q.101-105. Study tha foliowing bar grapn carefully 10 answir the questions

Q.101,

Q.102.

Q.103.

Q.104.

Q.105.

Q.106.

Marks Oblained By Five Students in Physics and Chemistry

B Physics
(] Chemisty

Students
Marks obtained by S in Chemistry is what percent of the totai marks oblained by all Ihe sludents in
Chemistry ?
(1) 25 (2) 28.5 (3) 35 4) 31.5 (95) 22

If the marks obtained by T in Physics were increased Dy 14% of the onginal marks, what would be his
new approximate percentage in Physics if the maximum marks in Physics were 140 7
(1) 57 (2) 32 (3) 38 (4) 48 (5) 41

Fill in the blank space in order to make the sentence correct as per tho given information. Total marks
obtained by T in both the subjects together is more than the marks oblained by _____ .

(1) Qin Chemistry (2) R in Physics (3) S in Chemistry

(4) P in Physics (3) R in both the subjects together

mﬂthhﬂmﬂhmﬁnhﬂmhlwmﬁsmamaﬂwFthysh:lar'-dChﬂnistrylogllhaf
to the total marks obtained by T in Physics and Chemistry together 7
(1) 3:2 (2) 4: 3 (3) 5:3 (4) 2:1 (5) None of these

What s the respective ratio between the total marks obtained by Q and S together in Chemistry 1o
the total marks obtained by P and R together in Physics
(1) 23:25 (@) 23: 21 (3) 17:19 (4) 17:23 (5) None of these

m-mmzahrmuuunuummpamamt.m what rale per bracelet should she
sell the bracelets so that profit eamed is 15% 7
(1) T184/- (2) T 186/- (3) T 192/ (4) T 198/ (S) None of these



Q.107.

Q.108.

Q.109.

Q.110.

Q.111,

Q.112.

Q.113.

Q.114,

Q.15

Q.116.

Qnz.

Q.118.

Q.118.

Q.120.

Kajal spends 55% of her monthly income on grocery, clothes and educalion in the ratio of 4 : 2:5
respectively. If the amount spent on clothes is 15,540/, what IS Kajal's monthly income ?
(1) 155,400/ (2) ? 54,500/ (3) ¢ 55,450/ (4) T 55,850/ (5) None of these

35 percent of a number is two times 75 percent of another number. What is the ratio between the hrst

and the second number respectively ?
(1) 35:6 (2) 31:7 (3) 23:7 (4) 32:9 (91 None of ihese

Area of a rectangular field 1s 3584 m? and the length and the breadth are in the ratio 7 : 2

respectively. What is the perimeter of the rectangle ?
(1) 246 m. (2) 292 m (3) 286 m. (4) 288 m (5) None of thase

Last year there were 510 boys in a school. The number decreased by 20 percent this year. How
many girls are thare in iha schocl il the numbesr of guris is 175 percent of the lotal number ol boys in

the school this year ?
(1) 854 (&) 848 (3) 798 (4) 782 (91 None of these

Aryan got 350 marks and Vidya scored 76 percent marks in the same test If Vidya scored 296 marks

more than Aryan, what were the maximum marks of the tast ?
(1) 650 (2) 300 (3) 850 (4) 950 (5) None of these

A student was awarded certain marks in an examinalion However, allar re-ovaluahion, his marxs
were reduced by 40% of the marks thal were onginally awarded 1o him s0 that the now score now
became 96. How many marks did the student lose after re-evaluation ?

(1) 58 (2) 68 (3) 63 (4) 56 (5) 64

855 candidales apphad for a job, out of which B0% of the candidates were rejected. How many

candidales were selected for the job ?
(1) 684 (2) 151 (3) 676 (4) 179 (5) None of these

Average of five numbers is 61, If the average of hrs! and third number is 69 and the average of

second and fourth number is 69, what is the fifth number ?
(1) 3 (2) 29 (3) 25 (4) 35 (5) None of these

The respective ratio between the present ages of father, mother and daughteris 7: 6 : 2. The
difference between mother's and the daughter's age is 24 years Whal is the father's age al presani 7
(1) 43 years 2) 42 years (3) 39 years (4) 38 years (3) None of these

Average weight of 19 men is 74 kgs. and the average weight of 318 women 18 63 kgs. What is the
avarage weight (rounded off 1o the nearest integer) o all the men and the women logether ?
(1) 59 kgs. (2) 65 kgs. (3) 69 kgs (4) 67 kgs. (5) 71 kgs.

What should come in place of the question mark so that it salishies equality ol the equation ?

J2% ol 750 < 7
(1) 23% 0l 600  (2) 46% of 207 (3) 98% of 250 (4) 75% ol 320  (5) None ol these

Mathew scored 42 marks in biology, 51 marks in chemistry, 58 marks mathematics, 35 marks in
mmammam.mmmmummtmmhmmnm

mmmmwmwhmnum
(1) ?_i (2) 82 (3) 68 (4) 78 (5) None of these

thmwmumummumm the fare for one child. If an adult's bus
fnhl'II#-.hwnmmwlhmidbﬂmmﬁmﬂmwwhﬂaEmh

same distance ?
(1) ¥ 505/- (2) ¥ 551/ (3) T572.- (4) T 560/ (S) None of these

AMWIMHMMHIWMhHM.Hmmmmiwm
nmnwmthi!Mmmmmmwﬂmmumam

l‘l'H'lil‘lihnMMMwbyHIM?
(1) 7 hes (2) Shrs (3) 6hrs (4) Bhrs (5) None of ihese



TEST Iv
REASONING ABILITY

Q.121-125. In Inese questions, relationships between different elements 1s shown in the statements. These slatements

Q.121.
Q122
Q.123.

Q124

n- 'ﬂn
Q.126.
Q.127-129.

Q.127.

Q.128.
Q.129,

Q.130.

Q.131,

Q.132.

are lollowed by two conclusions.

Give answer (1) if only conclusion | follows

Give answer (2) it only conclusion Il follows

Give answer (3) i elther conclusion | or conclusion Il loliows
Give answer (d) if nelther conclusion | nor conclusion Il follows
Give answer (5) if both conclusions | and Il lollow

Slatermant Rz2S2T>U>X:T<VeW
Conclusions - | Ra»X

N Xe<W
Statement : E=F<GeH: G2l
Conclusions : |. Ml

n E2I
Statement - A>B>F>C:D>E>C
Conclusions : |. C<A

N B>D
Slatement KslLsM=NP202N
Conclusions : || KeP

Il K=P

Statament . DecE<F<G:K>F
Conclusions : | K<G
N K2D

Which of the following will come next in the following series ?
Mf.n9n125u1235n123490123459512145
(1) 0 (2) 6 (3) 8 (4) 7 (5) 4

Study the given information carelully and answer the given questions - .
Among six people - A, B, C, D, E and F each of a different age, A is younger than only D. Only three
people are younger than C. F is younger than E. F is not the youngest.

Whnlmung:lmﬂaﬂoningumuwl?
(1) B (2) A (3) E (4) C (5) None of these

HE':mﬁmMMﬂhnfﬂmumyhB':m?
(1) 19 years (2) 22 years (3) 18 years (4) 17 years (5) 12 years

How many people are younger than € 7
(1) One (2) Two (3) Three (4) Four (5) More than four

Talk' is related 1o 'Speak’ in a certain way, Similarly, ‘Honest' is related to Truthiul Following the
same logic, ‘Listen’ is related to’__ *
(1) Music (2) Ears (3) Hear (4) Ignore (5) Sound



Q.133-134.

Q.133.

Q.134,

Q.135.

0.136-140,

Q.136.

Q.137.

Q.138.
Q.139.

Q.140.

n-‘ ‘1 "' "5-

1141,

FIII.

Study the given information caretully and answer the gven questions .

Twenty students are standing in a siraight line lacing north. Rina is standing sixth from the left end
There arg only three students between Rina and Shweta. Radha s slanding exactly between Shweta
and Rina. Tina is standing sixth o the nght of Radha Anita is standing lourth from the nght end o the

Iine. There are mare than four students between Rina and Tina
How many people are standing between Anita and Tina ?

(1) One (2) Two (3} Three (4) None (5) More than three
What is Shweta's position with respect 10 Anita ? .

(1) Sixth 1o the lef (2) Eghth 1o the jen (4 Sowverith o the oYy

(4) Ninth to the lelt (5) None of thaso

Which of the following will come in the place of the question mark (?) in the following senes Hased on
the Englisn alphabetical order ?

ZYW YUS RQO ? JIG
(1) KMN (2) MNK (3) NLK (4) NMK (5) NML

Study the given information carefully and answer the given questions

Eight peopie - J, K. L, M, N, O, P and Q are Siting around a circular Lable facing the centre, not
necessarily in the same order. O 1s sifting t*ird 10 the nght of M. There is only one person sithng between
Mand J. There are only three people between J and K. P is an immechate nesghbour of ). There are only
three people between P and L. N is second 1o the right of P

Which of the following is true regarding the given arrangement ?

(1) Mis an immediate neighbour of K (2) Nis an mmediate neghbour of J

(3) P is second lo the leh of O (4) There are four people between N and O
(5) None is true

Who is sitting second to the left of the one who is sithing second 1o the lelt of Q ?

(M (2) K (3) N 4) L (5) J

Four of the following five are alike in a certain way based on their seating positions in the above
arrangement and so form a group. Which one does not belong to the group ?

(1) PQ (2) KL (3) MN (4) QO (5) KO
What is N's position w:th respect to K 2

(1) Second to the left (2} Second lo the nght (3) Thurd 1o the left

(4) Third to the right (5) Fourth to the left

How many people are sitting between K and P when counled from the nght side of K ?

(1) One (2) Two (3) Three (4) Nona (5) More than three

hmummm.mmmummummmmmmmrm
Il.mhl\uhhhhmmmutﬂchamnm-,«mhhulmmmw
known facts and then decide which of the given conclusions logically follows from the given statements

disregarding the commonly known facts.

Give answer (1) if only conclusion | follows

Give answer (2) if only conclusion Il follows

Give answer (3) if either conclusion | or conclusion Il follows
Give answer (4) if neither conclusion | nor conclusion Il follows
Give answer (5) if both conclusions | and Il follow

Conclusions : 1. Noring is a square.
Il. All rings are squares. P

Statements : All rows are lines. All lines are queues. -
Conclusions : 1. All rows are queues.
Il. Atleast somo quouns are linos.



0.143.

Q.144,

Q.145.

0.146-150,

Q.146.

Q.147.

Q.148,

Q.149.

Q.150.

Q.151-160.

Q.151.

Q.152.

Statements All laptops are computers. Some laptops are nolebooks.
Conclusions - 1. Some notebooks are computers.
Il. All notebooks are computers.

Slatements Some parlicipanis are students. Some students are boys.
Conclusions * | No boy is a participant.
It All boys are participanis

Statements = All sparrows are birds. No bird is a replile.
Conclusions = 1. No sparrow i1s a replile
Il. Some reptiles are sparmrows

Study the given information carelully and answer the given queshions

Auditions for a show were held n seven dlierent clios of Inda - Channar, Bangalore, Coctur
Mumbai, Delhi, Bhapa! and Kolkata, nol necessanly in the same order, dunng the hirst seven months of
the year 2011 (stanting in January and ending in July) The audiions were held only in one city dunng a
month. Auditions in only four cities were held between the Kolkata audition and the Cochin audibon
The Kolkata audition was not held in June. Only one audiiion was held between the Kolkata audition and
the Bangalore audition. The Chennai audition was held immediately alter the Kolkata audtion The
Delhi audition was held immediately betore the Bhopal audition The Bhopal auditior was not held in
May.

How many auditions were held between the Mumbai audition and the Chenna audihon ?
(1) One (2) Two (3) Three (4) None (5) More than three

Which of the following statements is true according to the given sequence ?
(1) The Mumba: audition was held in July

(2) Delhi audition was held in April

{3) Cochin audition was held before May

(4) Kolkata audition was held in January

(5) Nona is true

Four of the following five are alike in a certain way based on the given sequence and hence form &
group. Which one does not belong to the group ?

(1) January - Kolkata (2) March - Bangalore (3} June - Cochur

(4) May - Deini {(5) February - Chennai

During March, the audition was held in which of the lollowing cities 7

(1) Bangalore (2) Kolkata (3) Mumba (4) Chenna (5) None ol these
The audition in Mumbai was held in which of the following months ?

(1) July (2) May (3) February (4) March (5) None of these

In each ﬂummmmmmﬂmrmmmrmmmmmmw
mmﬂm“mhhﬂ.ﬂwmm::mﬂhwd?
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Q.161.

Q.162.

Q.163,

Q.164.

0.165,

Q.166.

D.167,

168,

170.

7.

MARKETING APTITUDE/COMPUTER KNOWLEDGE
The larget group for 2 Car Loan is -,

(1) All persons owning a car (2) Alamily vath more than 2 members

(3) Car designers (4) Car garages

(3) Car showrooms

Standard marketing practces include

(1) Poaching (2) Unhealthy competition (3) Lowering the seling prge

(4) Unhealthy discount schemes (5) Phishing

Market Segmentation means g viding

(1) The marketing leams into small groups

(2) The employees as per their grades

(3) The products, as per their usage

(4) The products, as per their Iife cyclos

(S) The market, as pér the tastes and needs of diterent groups

The process of discovering patterns and relabanships using the availavle customer dala 10 revial what
Customers want and how they act is known as o

(1) Data Warehousing (€) Data Base (3} Data Mining

(4) Data building {5) Data maiching

Telemarketing means AN

(1) Internet Marketing () Saeting Welupihonis

(3) Door-to-door contacts (4] Sending and teceving SMS messages

(5) Marketing through telephone calls

Mnlmllng customers 1o buy upgraded products when they haa intended 1o buy something of lowor
value is known as _____

(1) Cross Selling (@) Forward Seling (3) Markating

(4) Channel Marketing (3) Up Seilting

The modern marketing concept asserts that ‘marketing’ starts with the product idea and ends
with

(1) Production of Quality Product () Adverisement Campaign

(3) Cuslomer Satistaction (4) Sale of the Produet

(5) Exchange of Money

A situation in which consumer purchasas are unpianned 1s calind ____
(1) Latent demand (2) Impulse buying (3) Irreguiar demand
(4) Unwholesome buying (5) None of these

mmmmhmmmmmummrmumﬂm__
(1) .Sympathetic approach . (2) Good communication skills (3) Courteous nature

(4) Persuasion skills (5) Perseverance

List of peopla who do not wish to receive telomarkoting cails 15 ____

(1) Dare Not Call List (2) Do Not Call List (3) Do Not Dial List
(4) Do Never Call List (5) None of these

Marketing of goods éxperimentally in several carefully selected areas before releasing them on a wide
scale is knownas _____ -

(1)Sampling  (2) Segmentation (3) Segregation  (4) Test Marketing (5) Grading

mmmumm__
(1) Inspiring sales parsons o talk more (2) Inspiring sales persans to sell more
(3) WMMMHM (4) Market size

(S) Market place



Q.17

Q.174,

Q.175.

Q.176.

Q77

Q.178.
Q.17s.

Q.180.

Q.181.
Q.182,

Q.183,

Q.184,

Q.185.

Selling Price of a product based on the buyer's pecceptions of value rather than on the seller's

coslis known as
(1) Break Even Pricing (2) Target Prolit Pricing () Cost plus Prcing

(4) Value based pricing (5) None of these

Which one of the foliowing besl describes the term ‘Negalive Demand 7
(1) Consumers begin to buy a product less frequently

(2) Consumers do not at all buy a product

(3) Consumers are unaware or uninterested in a product

(4) Consumar purchases vary on a seasonal basis

(5) Consumers dislike a product and may even pay 10 avod il

Leads lor canvassing Home Loan accounts can be obtaned lrom ____
(1) Builders (2) individuals building one’s own house

(3) Audit Departments (4) Bnck manulacturers
(5) Cement suppliers

Int@rne! Banking can be populanzed by way ol
(1) Reduced pnces (2) Higher prices (3) Wide Area Network
(4) Better technology (5) More ATMs

Uncenain oulcomes involving the markel for goods and services such as the possibility of price
declines or increases, changes in consumar preleronces, and/or changes in the nature of compehihion

is called
(1) Market Scope (2) Market Risk (3) Market Outlook

(4) Market Quicoma (5) Marke! Design

Good competiton helps N
(1) Improved cusiomer sarvice (2) Reduced sales

(3) Improved brand image (4) More marke! share
(5) Better customer profile

The systemalic gathering, recording and analyzing ol data with respect 1o a particular markel 1s known

'.-l———-—

(1) Market Share (2) Market Segmentation (3) Markel Profile

(4) Market Rasearch (5) Marketing Research

The most common source for leads generaltion for any company 1S

(1) House magazines (2) Audit guidelines (3) Yellow Pages

(4) Dictionary (5) Vision Document

Kilobyte equals to how many bytes ?

(1) 1000 (2) 1035 (3) 100 (4) 1008 (5) 1024

The central processing uni is an example of
(1) peripheral (2) anoutput unit (3) software {(4) a program () hardware

CD-ROM stands (0 e

(1) Compactable Read Only Memory (2) Compact Data Read Only Memory
(3) Compactable Disk Read Only Memory (4) Compact Disk Read Only Memory
(5) Connected Disk Read Only Memory

Which of the following terms relfers 1o the ability of a computer 1o automatically configure a new
hardware component that is added to it 7

(1) Formatting (2) Multiprocessing (3) Multiprogramming

(4) Multitasking (5) Plug and play

Free hard-disk space used 1o extend the capacity of RAM is termed
(1) Cache (2) Flash memory (3) ROM (4) Virtual memory (5) Volatile



Q187

Q.188.

Q.189,

Q.180.

Q.191,

Q.192,

Q.193,

Q.194,

Q.195,

Q.196.

Q.197.

Q.198.

Q.199,

Q.200.

(1) coMaboration (2) software Piracy (3) electronie istribution

(4) browsing (5) software lagacy

What is loading the Operating sysiem IO a personal computey Called 7

(1) Booting (2) Prompmg (3) Paging (4) Interrupting (5) Haam,nr.g
Which of the following is not an example of apphcaton Soltware 7

(1) Database SOftware’ (2) Graphics Software (J) {Jwratmg Syslem sofware

Pie charts are lypically createqd by using which of the following 7

(1) browser Software (2) database Sollware

(3) desk-10p Publishing software (4) word-proges 5ing soltware
(5) Spreadsheet sottwg re

(1) notebook (2) PD (3) supercompyter (4) sarver (S) laptop
Which of the following domaing 'S used by for-profjt businesses

(1) .com (2) .edy (3) .mil (4) nel () org

WAN stands 1o —

(1) Wired Areg Netwark (€) Wide Area Network () Wide Array Ny

(4) Wireloss Areq Network (5) Wanteg Area Network

What are isis of Programs waiting 1o be ryn called 7
(1) Shells (2) The background (3) Queves
(4) Page frames (5) Listg

An exampla of Peripheral equipmeny Isthe
(1) printer () CPu (3) spreadsheet (4) MICrocomputer (3) ALY

(1) Microsolt Winows Xp ang Microsoft Worg (2) Microsott Ofice XP ang Microson Windows xp
{9) MS DOS and Microsof Windows xo (4) UNIX and LiNux

(5) UNIX and Java

MS Excel is useg for 7

(1) Lﬂmwrﬂhp (2) WMM (3) Presentation

(4) Painting (5) None of these
MWHMMMMWMMW

(1) users (2) programmers (3) librarians

(4) information officers (5) end-users

Deskiop ang Personal computers are also known B

(1) Supercomputers (2) servers (3) mainframes
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